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[TestMethod]
public void TestSay1 ()

{

FizzBuzzPlayer p = new FizzBuzzPlayer () ;
Assert. AreEqual<string> (“1”, p.Say(1));

}

— ®E— RDY—XT 7 1)L FizzBuzzPlayer.cs =135

internal class FizzBuzzPlayer

1{
internal string Say (int number)
{
return “17; "1 HSRN(E
1
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[TestMethod] X T A NMENNEFIC (&
public void TestSay2 () ZFDOFT A BNZITET

{

FizzBuzzPlayer p = new FizzBuzzPlayer () ;
Assert. AreEqual<string> (2", p.Say(2));

}

— 2DDOT A hEERFISEI(ICE? (ZHME)

internal class FizzBuzzPlayer

{

internal string Say(int number)

{
//return “17;

return number. ToString() ; X BGR— MEIERFIC(IE

z=Aan

} 2THFR NEEHE
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rivate FizzBuzzPlayer _testTarget; HEBMNENDT
EEIC!
Testlnitialize

public void Testlnitialize() {
this. testTarget = new FizzBuzzPlayer () ;
13

A A BNSOHE 1272,

[TestMethod] R
public void TestSayl() { S On

Assert. AreEqual<string> ("1”, this._testTarget. Say (1)) ;
J

[TestMethod]
public void TestSay2() {

Assert. AreEqual<string> ("2”, this._testTarget. Say(2)) ;
J
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[TestMethod]
public void TestSay3Fizz ()

{
Assert. AreEqual<string> ("Fizz”, this._testTarget. Say(3)) ;
J

internal class FizzBuzzPlayer

{

internal string Say(int number)

{
if (number = 3) 3 Eo e "Fizz" =R

return “Fizz”;

H(ELLD L~ 1!

return number. ToString() ;
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[TestMethod]
public void TestSaybBuzz ()

{
Assert. AreEqual<string> ("Buzz”, this. testTarget.Say (b)) ;

}

internal class FizzBuzzPlayer

{

internal string Say(int number) {
it (number == 3)
return “Fizz”;

L(numbLl 5 o725 "Buzz" iR
return "Buzz”.

H(ELLaDL~ 1!

return number. ToString () ;
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[TestMethod]
public void TestSay6Fizz() {
Assert. AreEqual<string> ("Fizz”, this. testTarget. Say(6)) ;

}

internal class FizzBuzzPlayer

{

internal string Say(int number) {
//if (number == 3)

if (number % 3 == 0) 3 DEEIZo> 125 "Fizz"
return “Fizz”; =

If (humber == 5) \
return “Buzz”: ETB%D\D_C%H&:\

return number. ToString() ; =2 NEET D (C R GE
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— 10 = “Buzz” h\iR3

[TestMethod]
public void TestSay10Buzz () {
Assert. AreEqual<string> ("Buzz”, this. testTarget. Say(10)) ;

}

internal class FizzBuzzPlayer

{

internal string Say(int number) {
if (number % 3 == 0)
return “Fizz”;

5 DOEETRS "Buzz"

//if (number == 5) T
if (number % 5 == 0) X =AHl=
return "Buzz”;

return number. ToString () ;
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= 15 = “Fizz Buzz” h\®R3

[TestMethod]
public void TestSay15FizzBuzz () {
Assert. AreEqual<string> ("Fizz Buzz”, this. testTarget. Say(15));

}

internal class FizzBuzzPlayer

{

internal string Say(int number) {
if ((humber % 3 == 0) && (number % 5 == 0))
return “Fizz Buzz”,

if (number % 3 == 0) ]
return “Fizz”: A=A EIRY SR el fully Hal?
if (number % 5 == 0) 2L\ E S (E=AAE

return “Buzz”;
return number. ToString () ;
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internal string Say (int number)

{
bool isMultiple0f3 = (number % 3 == 0);

bool isMultipleOf5 = (number % 5 == 0);

//if ((number % 3 = O) && (number % 5 == 0)

if (isMultipleOf3 && isMultipleOf5)
return “Fizz Buzz";

//if _(number % 3 == 0) EEEIHRT ST

if (isMultipleOf3) FrwvwS AT EEA
return “Fizz”;

//if (number % 5 == 0)
if (isMultipleOf5)
return "Buzz”;

return number. ToString() ;
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[TestMethod]
[ExpectedException (typeof (ArgumentOutOfRangeException)) ]
public void TestSayOError () {

string result = this. testTarget. Say(0) ;

Assert.Fail ("HISAHAAFEEET ., {0} ARYFELT=. ", result);
J

internal string Say(int number)

{
if (number < 1)
throw new ArgumentOutOfRangeException (“number”, number,

“FizzBuzz #—LIEx 1 SoRFUET. ")

bool isMultipleOf3 = (number % 3 == 0) ;
bool isMultipleOf5 = (number % 5 == 0);

if (isMultipleOf3 && isMultipleOfb)
return “Fizz Buzz”;
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